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B I e i o0 R R BT LA BN L G R O A an
Ll Zn-NiG® SUTUAVZES T L &9 s | SUTVAVZr L3
SR ho* lﬂl‘rﬁ E:3 10014 e ZlI:.' a | W%
W No. [N fow| HER - 7 | LR | PR ’(’::; e | kaww | oy
(R0 | (gm®) m)| (C) |(Crp) DA B
1 13 30 - 900 8 [ Bik - 2 | -650 | REH
2 15 40 = 900 12 3 Bk ® 2 | -550 | REW
3 14 50 " 900 90 1 ik ® 2 | -550 | W
Ll 16 30 Y = — MR 05 | 950 8 20 Bik ki 2 | -500 | REIG
5 13 50 VU a— Wi 05 | 850 12 5 ik r 2 | -500 | RHIM
6 14 4 Y a— i 05 | 950 90 2 Bk 4 2 | -500 | MEAH
7 15 30 YFGLLY r—b 05 | 950 8 20 LIS # 2 | -500 | WK
8 15 0 and ¥nlh 05 | 950 8 20 Rk # 2 | -500 | AW
9 15 30 PP PR PE S | 05 | 950 8 20 Rk # 2 | -500 | R
10 16 a0 ) a—#tiR 05 950 8 25 Bk # 3 450 | REEH
11 18 30 Y a— iR 05 | 1000 8 30 Bk #r 5 | -400 | mEH
12 13 30 * 950 8 10 Bk = 3 | -450 | BWH
13 13 40 ) a2 W 05 | 1100 8 30 Bk 4 2 | -450 | BWH
14 13 50 ) a— Bk 05 | 850 8 20 Bik 4 2 | -450 | BEW
15 13 20 Y o= iRl 05 | 900 8 20 ik # 2 | -450 | RHIH
16 13 30 FH MY F YA 05 | 950 8 20 Bik # 2 | -500 | WM
17 13 30 FEhy SV IR 05 | 950 8 20 Bk 41 2 | -600 | RWH
18 13 30 TAIYRTFY UA 05 | 950 8 20 Bk il 2 | -500 | WM
19 13 30 | TAi=vahe )M | 05| 950 8 20 Rk r 2 | -500 | WM
20 13 30 Fra i) FUh 05 | 950 8 20 LIS # 2 | -500 | BWIHY
21 13 30 Inaz=gahe 7V ZM | 06| 950 8 20 Bk L 2 | -500 | WM
o — #Mﬁifa)lﬂm "‘ﬁ o B A llm!.iﬂ'?llut am
m | reNiad SUTVALZr A 4 L4 PR |nimam) omme STV (zaoM| B | g
HHNo. INi 4] 110 Rk - wor || O Chn | womm [T oy
(W &%) | (g/m”) um) | (T) | (T8) D%
22 10 60 " 950 12 3 ik L 3 | -400 |%ewH|
23 12 60 il 950 12 3 LI il 3 | -380 |sEHi6d|
24 12 | 60 oY a— il [os] 950 | 12 5 Bk # 2 | -500 [
25 10 60 = 960 90 1 iR = 3 | -400 |RHH
26 12 60 = 950 90 1 L2 = 3 | -380 | W
27 12 60 Y a— i | o5| 90 [ =0 2 Bk # 2 | -500 [BM
28 10 60 =~ 950 8 5 ~ = 5 | -360 |He|
29 12 60 = 950 8 5 * = 3 | -350 [Hee|
30 12 | 60 Y = R [os] 0 | 12 10 [ 1 2 | -600 [mmm|
31 0 | 30 = 950 12 3 ik = 3 | -100 [k
32 | 12 | g0 * 90 | 12 3 Ak = 3| 380 [sepi]
33 12 30 =Y a—2 B | 05| 950 12 5 ik # 2 | -500 [ieees|
a4 9 60 [ 950 8 2 - = 5 | -a50 ||
35 9 60 = 950 12 1 Bk = 3| -850 [se|
36 9 60 " 950 | 90 1 ik = 3 | -850 [es|
37 2 60 e 1] 05 | 950 8 2 = # 3 | -350 [Hwsi|
38 9 60 o) a— o M 05 | 950 12 1 ik # 3 | -a60 ||
39 9 60 Y a— W 05| 950 90 1 3 # 3 | -a50 [em|
40 FiZnd o X K 950 8 0 = = 5 | -700 e
I At 950 | 8 0 = * 0 | :a00 [res|
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WEERST (mass%)
#FE | C Si Mn P S Al T N Cr
A (0.2 0.3 [1.3 0.0110.002 |0.05(0.02]0.004 =
B 0.4 [0.2 {1.2 [0.01]0.0001 {0.03]0.01]10.003 —
C (0.1 {0.05]1.1 {0.0210.005 |0.04]0.011{0.003 s
D 0.7 {0.1 [0.5 [0.02]0.001 |0.03(0.01]0.003 S
E 12.0 10.3 /0.5 {0.020.02 — s — 12 {3.1
[#%5]
G| - EFE - & hHiE it |- & mngatk: | ARt | BER | W | 0
{15& Fkn | S8 EE B
No (g/m?) H O |(H%|E
| | digasH - & | R H - & 50 Z ¥Y—8t | REsL] O |O
3 2 3 2 n &ﬁﬁ;ﬁi
2 | R —12% | BX¥H - & 50 Zn, Ni ” ” O |0
Zaash > & %
3 |- 1% | BID- & 50 Zn, Co # ” C |0
NN 5 &
4 | dHH—8% | B> &+ 50 Zn, Fe ” ” O |01
- & it
5 | Himp o & ??H!ﬁiﬁy) > 60 Zn ” ” O |0 é'l
6 | I —10% | BRtdpsnn-d 60 In, Fe ” ” O |O
- & + 8 &t
7 | 85— 5% | BRLTEIRY > 60 Zn, Al ” ” O |0
A o E | X
8 | #36—55% | iAmbdRin®D - 60 Zn, Al Mg ” ” O |0
N BH-E | E
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